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TOPIC : Insects — Their colonies ( &esre0 S0r3rE 8550 )

I. Choose the correct answer and write in given bracket.

(3% S8rgraRY HHy¥d e78e5 &° orafod. )

1) 83e3Ke0 HHgH0d _HE8aron(Bees collect __from flowers.) ( )
A) Sos8oo (Nectar)  B) ydorbew (insects) C) DHgew (flowers)
2) Kogo g dven (Egg-laying ants) ( )

A) Worker ants( $9b0e0 )  B) male ants (355 Hioen) C) queen ants (o083 Hisoew)
3) 93 &3 WY E08 BT YY) Be) B IrabreE) ?

(How much weight an ant can lift more than its weight ?) ( )
A) 10 B) 50 C) 30
4)  dH3ven 63 Ko 808 T3S Kg¥ooeron
(Following material is used to build a shelter of an ant.) ( )
A) clay(:mg) B) wood (50) C) cloth ()
5) &wsreso sy éoeran.( Insects have _ legs.) ( )
A)4 B)6 C)8

I1. Match the following by drawing lines.
(es83830& ( Aeren A3 ) )

1) Hoew (ants ) A) 83 (honey)

2) 83e3Ke0 (honey bees) B) Kreeso Sgao (build nest)
3) 5578 Hisoew (worker ants) C) $0¢3 (mud)

4) 53 Kr~e%o (ant hill) D) S0 @5%0 (social beings)

I11. Ants are ideal social beings. Why?( $30e0 Sooisso &° 85D:A00 . Jokosn?)
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